








































































Friday Nov 4 Fall 22
Lecture 28

Announcementstpem.no
skipping 3.7 3.8

Wiley Plus 10 due nextWed 13.43.5.3.6 3.9
Quiz 9 next Thursday sames

If you are not sure if you should

stay m class or withdraw please email
me and we'll talk

Section 3.6 The Chain Rule and
Inverse Functions mini

version
Assume you know x2 2x
You can this to find the derivative
of the inverse function of x

fly I X We want to find
square both sides f x

FLI HII











































































fly x 2
Take the derivative of both sides

ACA x

By the chain rule

Xx 2 fly f x

90 2 fac f x 1
Solve for f ly

fila g.tn 2f

Summary Using the chain rule if we
know the derivative of a function
ha then we can find the
derivative of h lx

Goat Find the derivative of luce using
this trick











































































The inverse of lucx is ex

Define fix ln x

Do e to the power of each side

eft e
y

Take the deriv of both sides

efta x

eft f x I
Solve for files

Ht_ I

Fact end I











































































EI Find the derivative of
In 3 2

chain rule outside lnCx
inside 3 2

2
3 2 332

EI Find the derivative of
costly x2

cos end sin end end
to

f g x g xf yet
sin luv x2

sin luv e x

25m la x2

Shipping 3.7 and 3.8











































































Section 3 9 Linear Approximations and 50
The Derivative

If you zoom in on any functionat any point where
it looks l

strt.fi 1

aight

the deriv

The line it looks like is the
tangent line at that point

So we can approximate the value of a
function f x near a point x a

By starting at fca and extending the
tangent line

Ef 5 D
approx f 5.1

2.1











































































fix
line

Jgerror

E4
tangent

Lex

Has qqjgy.FI
tfica cx a

x

Formula for the TL
f x fla x a of a

The further x gets away from a
the worse the approximation gets

the larger Ect gets

EI What is the linear approximation
of get since near to

i get q o t o
q o

910 sin o OV gut coset

q o Cos O I











































































since 0 1 0 l
since et near to


